Scales

Scale 1cm:0.25miles

0.25 0.5 0.75 1mile

This means 4cm on the

Shape, Space

map=1mile in real life.

And Measure

Perimeter Area

The space around the
outside of the shape.
Add all the edges together.

Area of Triangle= (base x height) +2

Perimeter = 4+6+4+6=20cm

Area= 4 x 6 =24cm? 4cm

height

6cm

The space inside a 2-D shape.

Area of Rectangle=Length x Width

Metric Units of Measure

Length Mass Volume

Millimetre mm Milligram mg Millilitre ml
Centimetre cm Gram g Litre |
Metre m Kilogram kg

Kilometre km Tonne T

Conversions - -
10mm=1cm 1000mg=1g \ 1000ml=1I " eveex F
100cm=1m { 1000g=1kg E -
1000m=1km o 1000kg=1T 1,

Volume

The space inside a 3-D shape.

Length
Volume of a Cuboid= Length x Width x Height

base

N Nets are unfolded 3-D shapes.
Net

Box

FACE

S A

The area of each face added together.

Area of a Sector

= (fraction of the circle) X (area of circle)
=frxA

centralangle

= 360 X T2 / )
% X T2 B

circumference

Area of a circle
= 1 x radius?

Circumference of a
circle = 1 x diameter

ab=axb

a2=a Xad

2 - asb
b

Types of Straight Lines
remember that the
diameter = 2 x radius
Triangle Rectangle Pentagon horizon*al
vertical
=,
Hexagon Heptagon Octagon ©
diagonal parallel >
< X axis >
G
Equilateral: 3 Isosceles 2 Scalene: 0
equal angles equal angles equal angles per'pendicular' in'rer'secﬁng
. . . Distance = Speed X Time Converting between Celcius (°C)
A LGEBRA Substitution into formulas P D and Farenheit (°F)
Swap the letters for the numbers Distance ST Use the following formula
Speed =
that you are told. Time
F=1.8xC+ 32
Example Sample Units. _ _
- Distance Speed - m/s Converting between Farenheit
If a=5 what is b when b=3a+7 Time = Specd Distance - metres (°F) and Celcius (°C)
b=(3x5)+7 Time — seconds Use the following formula W
b=15+7 Total distance travelled - . . i“’
Average Speed = C=(F-32)+1.8 '
b=22 Total time taken ]
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e1cm
©0.5cm

0™ 1

Place the digits in

Th H T u the correct “place
value” columns
5 3 4 with the numbers
under each other.
12 16 17
+ Begin adding in the
3 2 1 2 units column.
Multiplication
78 x 42=
Th H T U
X 70 8 2 8 0 0
3 2 0
40 |2800 |320 1 4 0
2 | 140 | 16 ta ! 6
3 2 7 6
Division Carry remainders —Calculations
268 1+5=0r1
134 +5=26.8 5)134.0 13+5=2r3
34+5=6r4
40+5=8

Estimating

Before using a calculator
you should estimate your
question to check your
answer makes sense

Example
29.492 x 6.301=

Estimated Answer

30x6 =180

Actual Answer= 185.829092

1 100% 1 1 100 1
0.75 75% 3/4 0.66 66 2/3
o5 e A2 033 3 AR N U M B E R
0.25 25% 1/4
0.125 12.5% 1/8
R to Rounding to significant figures
. . o -
1 decimal place 2 decimal places When rounding remember-. When rounding to significant
s N
4 8 3 2 5 5 2 6 7 1 0-4 the number stays the same as before, figures, we start counting as soon as we
. OOO . ... G_g movalp (:n the number line. reach a number tfhat is not zero. \
(\ . .
No Yes Money is always written
\ 17.46789 0.0 7‘5 >
0 2d.p. (o)
4.8 5.27 U £25 [{=2£2.50 Y
1st significant 4th significant
5 figure figure 0 . U 8 .
Pe rce ntages % stands for parts per 100 1 significant figure
Percentages of an amount
0.0052710543 . N
10% 5% 1% 4 2 7 2 8
Divide by 10 Half 10% Divide by 100 ‘e
0% 25% 20% 1st significant 5th significant o
figure figure Yes
Divide by 2 Half 50% Double 10%
Percentages increase or decrease 0 is the 5th Significant bo) 4 3ﬁ0 p
Increase-add the percentage amount  Decrease-subtract the percentage amount Figure because it follows \__2 significant figures )

+ to the original amount.

(Inflation, rise, interest p.a., etc.)

from the original amount.

(Sale, deflation, fall, depreciation, etc.)

Finding one number as a percentage of another

Example
There are 110 members of staff at Hammersmith Academy 66 are female.

What percentage of the staff are female?

Write as a fraction This line stands for divide

__outof___

]1x 100 =60%

How to find a percentage of an amount on a calculator
66 +110=0.6

0.6 x 100 = 60%

other non zero numbers.

J

12.0

19

No

12.0

3 significant figures

When dealing with Significant

Figures, you need to keep any zeros
that tell us the value of a number.

Bottom=Denominator

Fractions
Fractions of an amount
Divide by the bottom, times by the top

5 24 +8=3
of £24= £15

8 3x5=15

Top=Numerator




Qualitative “l drink coffee every day”

Descriptive

information

Data Discete WP WP WP WP 4

(Counted) 4

Quantitative

Numerical

information Continuous
(Measured)

Types of Data— Quantitative

Discrete data

Things that are not measured:

Continuous data

Things that are measured:

A

The average is a measure of a set of data. We use the
following types of average:

Data Handling

Favourite Sweets
Days of the week
Number of boys in a family

Shoe size

Length of grass
Volume
Mass

Area of a field

Collecting Data

Number of pets Tally Frequency

1 M wm 10

Tally Charts - A structured way > M 8

of processing information. 3 Il 3
4 1 2
5 I 2
6 0
7 0
8 0
9 0
10 1

Surveys and Questionnaires

Do Don’t

Give time frames when appropriate.

e.g. How many times do you go the gymin a
week?

Group figures together
e.g. 0-15yrs 16-25yrs
Use simple language

Use closed questions

Ask Biased Questions.

Your favourite team is Leicester City isn’t
it?

Overlap categories
e.g. 0-15yrs 15-25yrs
Be Vague

Be too personal

= The middle number in size order

118cm 132cm

141cm

40cm

Median

124cm

.j’!‘ % ‘ | p \

9. L8 JL

If there are two middle numbers add them up and divide
them by 2

Hey diddle diddle,

The median’s the middle;
You add and divide for the mean.
The mode iS the one that appears the most,
And the range is the difference between.

= Add all the numbers or data and

divide by the total number.

40cm + 118cm + 124cm + 132cm + 141cm  =555cm
124+ 132=256cm 5
Median =128cm
256cM = 128em
2 r;""" ‘ Mean =
40cm  118cy [124cm  132cm | 141em  143cm ,@E 111cm
: o) 4
| @-w S, &R | s
% W |
“9 Ss J 1 S L The range is a measure of how close together the items of data are.
= The most common or popular Mode = The difference between the biggest and smallest data

0060600

If two things are equally popular then it is called Bimodal

4
0060606

Range = 141-40

@ =101cm
o »

124cm

132cm

118cm




Conversion Graphs  comerin sereen mies and _
. Pictograph
We draw it in the same way as the N e
above graph and the points are E 12 HEEEN / a a a n ra p S Categories lcons f Symbols / Pictures
connected with a straight line. : /.'// 1 1 [ I | I
. [ LA ] | |
Data Handling- From the graph, we see that 8km e France * * * * *
is approximately 5 miles. miles

Graphs haly
Frequency of b Sweet
Ple Cha rts 360°in a circle T occurrence of 4
people IT: a H BE" S Spain * * *
certain heght 4 Chewy 4! Golden t
ar
Category amount
total Diagram
Year 9 Boys favourite Sport
Bland @~ Nutty Portugal
-Football 5% of the user 5% of the usen ..
-Rugby population is in population is in ot 1 e
this area this area Key/ Legend
B cricket T z | : |
B ennis Sth S0th percentile 95th o .
. percentile average (mean) percentile — 10 people
Athletics —_— ) * pecp
- Other Height Soft

Bar Charts Scatter Graphs Drawing Graphs
x+  for grouped data the chart does not have spaces between the trend of the points. O  Title
bars .. O  Labelled Axis
_ _ It does not need to go through the origin
% Notice that the scale of the frequency is constant and starts _ O  Suitable Scale
from O every time. - - . . ‘ . Correlation
Youshoui abe The line of best fit estimates the relationship L x O Plotted Accurately
each axis to say . X )
what it is Graph Showing Pupils' favourite type of weather ::':T:”;:r between the two variables. x: x : % O Key (if required)
showing T +__‘- title saying X: X X
what the »

eraph shows

Line Graphs

After plotting points at specific intervals

Positive correlation

Pu:ils i

102

e 03 *® (usually time) you can join up the points to
S ¢ x . .
3 941 ol I create a curve that shows the relationship.
- 904 x
5 4 «—> S 86+ T x
£ 82+ x Heating and cooling water
® = L ng ng
2 5 781 100 —
Q74+ . . —~ 00
= 704 Negative correlation g_) 80 X
You should R usnny Cloudy Cokd Srowing 5 e6- 1 " E 70 // A
I ° E 624 x 60
Ej:; :::E” Type of Weather Your bars 2 ol x L ox %X § 0 74 \\'\
hetween th should all be i * 40
bars to rrll-lakEEit the same : X x * x % é_ 30 1 | ! E‘\\”__‘“
clear thickness he x x X x o 20 .
{/\, " = 10 .
0 0 1

14 16 18 20 22 24 26 28 30

- 0 1 2 3 4 5 6 7 8 9 10 1
Temperature (“C) Mo correlation

Time (minutes)




